

①

$$\begin{array}{r} 62 \\ 11 \overline{) 686} \\ \underline{66} \\ 26 \\ \underline{22} \\ 4 \end{array}$$

②

$$\begin{array}{r} 8 \\ 40 \overline{) 330} \\ \underline{320} \\ 10 \end{array}$$

③

$$\begin{array}{r} 24 \\ 20 \overline{) 485} \\ \underline{40} \\ 85 \\ \underline{80} \\ 5 \end{array}$$

④

$$\begin{array}{r} 60 \\ 12 \overline{) 730} \\ \underline{72} \\ 10 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 36 \overline{) 743} \\ \underline{72} \\ 23 \end{array}$$

⑥

$$\begin{array}{r} 8 \\ 62 \overline{) 519} \\ \underline{496} \\ 23 \end{array}$$

⑦

$$\begin{array}{r} 8 \\ 36 \overline{) 310} \\ \underline{288} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 33 \overline{) 349} \\ \underline{33} \\ 19 \end{array}$$

⑨

$$\begin{array}{r} 51 \\ 14 \overline{) 715} \\ \underline{70} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

①

$$\begin{array}{r} 5 \\ 47 \overline{) 279} \\ \underline{235} \\ 44 \end{array}$$

②

$$\begin{array}{r} 15 \\ 33 \overline{) 527} \\ \underline{33} \\ 197 \\ \underline{165} \\ 32 \end{array}$$

③

$$\begin{array}{r} 8 \\ 93 \overline{) 783} \\ \underline{744} \\ 39 \end{array}$$

④

$$\begin{array}{r} 10 \\ 22 \overline{) 229} \\ \underline{22} \\ 9 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 15 \overline{) 152} \\ \underline{15} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 3 \\ 97 \overline{) 378} \\ \underline{291} \\ 87 \end{array}$$

⑦

$$\begin{array}{r} 4 \\ 82 \overline{) 401} \\ \underline{328} \\ 73 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 16 \overline{) 168} \\ \underline{16} \\ 8 \end{array}$$

⑨

$$\begin{array}{r} 52 \\ 18 \overline{) 950} \\ \underline{90} \\ 50 \\ \underline{36} \\ 14 \end{array}$$

①

$$\begin{array}{r} 60 \\ 11 \overline{) 663} \\ \underline{66} \\ 3 \end{array}$$

②

$$\begin{array}{r} 23 \\ 36 \overline{) 830} \\ \underline{72} \\ 110 \\ \underline{108} \\ 2 \end{array}$$

③

$$\begin{array}{r} 6 \\ 31 \overline{) 203} \\ \underline{186} \\ 17 \end{array}$$

④

$$\begin{array}{r} 26 \\ 12 \overline{) 313} \\ \underline{24} \\ 73 \\ \underline{72} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 15 \overline{) 302} \\ \underline{30} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 6 \\ 63 \overline{) 414} \\ \underline{378} \\ 36 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 29 \overline{) 315} \\ \underline{29} \\ 25 \end{array}$$

⑧

$$\begin{array}{r} 21 \\ 21 \overline{) 442} \\ \underline{42} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 3 \\ 78 \overline{) 294} \\ \underline{234} \\ 60 \end{array}$$

①

$$\begin{array}{r} 20 \\ 39 \overline{) 797} \\ \underline{78} \\ 17 \end{array}$$

②

$$\begin{array}{r} 50 \\ 17 \overline{) 855} \\ \underline{85} \\ 5 \end{array}$$

③

$$\begin{array}{r} 10 \\ 12 \overline{) 124} \\ \underline{12} \\ 4 \end{array}$$

④

$$\begin{array}{r} 66 \\ 11 \overline{) 729} \\ \underline{66} \\ 69 \\ \underline{66} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 71 \\ 13 \overline{) 925} \\ \underline{91} \\ 15 \\ \underline{13} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 4 \\ 35 \overline{) 164} \\ \underline{140} \\ 24 \end{array}$$

⑦

$$\begin{array}{r} 40 \\ 19 \overline{) 764} \\ \underline{76} \\ 4 \end{array}$$

⑧

$$\begin{array}{r} 30 \\ 23 \overline{) 711} \\ \underline{69} \\ 21 \end{array}$$

⑨

$$\begin{array}{r} 7 \\ 68 \overline{) 486} \\ \underline{476} \\ 10 \end{array}$$

①

$$\begin{array}{r} 90 \overline{) 831} \\ \underline{810} \\ 21 \end{array}$$

②

$$\begin{array}{r} 81 \overline{) 625} \\ \underline{567} \\ 58 \end{array}$$

③

$$\begin{array}{r} 12 \overline{) 198} \\ \underline{12} \\ 78 \\ \underline{72} \\ 6 \end{array}$$

④

$$\begin{array}{r} 33 \overline{) 994} \\ \underline{99} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 60 \overline{) 337} \\ \underline{300} \\ 37 \end{array}$$

⑥

$$\begin{array}{r} 24 \overline{) 502} \\ \underline{48} \\ 22 \end{array}$$

⑦

$$\begin{array}{r} 21 \overline{) 860} \\ \underline{84} \\ 20 \end{array}$$

⑧

$$\begin{array}{r} 56 \overline{) 304} \\ \underline{280} \\ 24 \end{array}$$

⑨

$$\begin{array}{r} 30 \overline{) 603} \\ \underline{60} \\ 3 \end{array}$$

①

$$\begin{array}{r} 20 \\ 19 \overline{) 394} \\ \underline{38} \\ 14 \end{array}$$

②

$$\begin{array}{r} 10 \\ 18 \overline{) 181} \\ \underline{18} \\ 1 \end{array}$$

③

$$\begin{array}{r} 40 \\ 12 \overline{) 484} \\ \underline{48} \\ 4 \end{array}$$

④

$$\begin{array}{r} 4 \\ 51 \overline{) 218} \\ \underline{204} \\ 14 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 25 \overline{) 274} \\ \underline{25} \\ 24 \end{array}$$

⑥

$$\begin{array}{r} 8 \\ 23 \overline{) 193} \\ \underline{184} \\ 9 \end{array}$$

⑦

$$\begin{array}{r} 31 \\ 25 \overline{) 792} \\ \underline{75} \\ 42 \\ \underline{25} \\ 17 \end{array}$$

⑧

$$\begin{array}{r} 24 \\ 27 \overline{) 657} \\ \underline{54} \\ 117 \\ \underline{108} \\ 9 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 35 \overline{) 373} \\ \underline{35} \\ 23 \end{array}$$

①

$$\begin{array}{r} 4 \\ 87 \overline{) 361} \\ \underline{348} \\ 13 \end{array}$$

②

$$\begin{array}{r} 62 \\ 15 \overline{) 935} \\ \underline{90} \\ 35 \\ \underline{30} \\ 5 \end{array}$$

③

$$\begin{array}{r} 10 \\ 16 \overline{) 174} \\ \underline{16} \\ 14 \end{array}$$

④

$$\begin{array}{r} 2 \\ 73 \overline{) 210} \\ \underline{146} \\ 64 \end{array}$$

⑤

$$\begin{array}{r} 40 \\ 11 \overline{) 441} \\ \underline{44} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 46 \\ 21 \overline{) 974} \\ \underline{84} \\ 134 \\ \underline{126} \\ 8 \end{array}$$

⑦

$$\begin{array}{r} 19 \\ 23 \overline{) 459} \\ \underline{23} \\ 229 \\ \underline{207} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 7 \\ 31 \overline{) 223} \\ \underline{217} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 22 \\ 20 \overline{) 441} \\ \underline{40} \\ 41 \\ \underline{40} \\ 1 \end{array}$$

①

$$\begin{array}{r} 40 \\ 15 \overline{) 607} \\ \underline{60} \\ 7 \end{array}$$

②

$$\begin{array}{r} 13 \\ 42 \overline{) 585} \\ \underline{42} \\ 165 \\ \underline{126} \\ 39 \end{array}$$

③

$$\begin{array}{r} 13 \\ 26 \overline{) 344} \\ \underline{26} \\ 84 \\ \underline{78} \\ 6 \end{array}$$

④

$$\begin{array}{r} 7 \\ 54 \overline{) 404} \\ \underline{378} \\ 26 \end{array}$$

⑤

$$\begin{array}{r} 70 \\ 14 \overline{) 986} \\ \underline{98} \\ 6 \end{array}$$

⑥

$$\begin{array}{r} 5 \\ 32 \overline{) 187} \\ \underline{160} \\ 27 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 36 \overline{) 721} \\ \underline{72} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 13 \\ 32 \overline{) 426} \\ \underline{32} \\ 106 \\ \underline{96} \\ 10 \end{array}$$

⑨

$$\begin{array}{r} 23 \\ 11 \overline{) 263} \\ \underline{22} \\ 43 \\ \underline{33} \\ 10 \end{array}$$

①

$$\begin{array}{r} 10 \\ 22 \overline{) 233} \\ \underline{22} \\ 13 \end{array}$$

②

$$\begin{array}{r} 32 \\ 11 \overline{) 358} \\ \underline{33} \\ 28 \\ \underline{22} \\ 6 \end{array}$$

③

$$\begin{array}{r} 30 \\ 32 \overline{) 990} \\ \underline{96} \\ 30 \end{array}$$

④

$$\begin{array}{r} 7 \\ 29 \overline{) 231} \\ \underline{203} \\ 28 \end{array}$$

⑤

$$\begin{array}{r} 50 \\ 19 \overline{) 968} \\ \underline{95} \\ 18 \end{array}$$

⑥

$$\begin{array}{r} 56 \\ 11 \overline{) 618} \\ \underline{55} \\ 68 \\ \underline{66} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 6 \\ 38 \overline{) 231} \\ \underline{228} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 49 \overline{) 535} \\ \underline{49} \\ 45 \end{array}$$

⑨

$$\begin{array}{r} 15 \\ 34 \overline{) 542} \\ \underline{34} \\ 202 \\ \underline{170} \\ 32 \end{array}$$

①

$$\begin{array}{r} 5 \\ 70 \overline{) 417} \\ \underline{350} \\ 67 \end{array}$$

②

$$\begin{array}{r} 5 \\ 36 \overline{) 208} \\ \underline{180} \\ 28 \end{array}$$

③

$$\begin{array}{r} 9 \\ 90 \overline{) 863} \\ \underline{810} \\ 53 \end{array}$$

④

$$\begin{array}{r} 21 \\ 33 \overline{) 708} \\ \underline{66} \\ 48 \\ \underline{33} \\ 15 \end{array}$$

⑤

$$\begin{array}{r} 16 \\ 38 \overline{) 634} \\ \underline{38} \\ 254 \\ \underline{228} \\ 26 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 28 \overline{) 288} \\ \underline{28} \\ 8 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 31 \overline{) 952} \\ \underline{93} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 11 \\ 38 \overline{) 446} \\ \underline{38} \\ 66 \\ \underline{38} \\ 28 \end{array}$$

⑨

$$\begin{array}{r} 50 \\ 18 \overline{) 909} \\ \underline{90} \\ 9 \end{array}$$

①

$$\begin{array}{r} 4 \\ 49 \overline{) 210} \\ \underline{196} \\ 14 \end{array}$$

②

$$\begin{array}{r} 9 \\ 91 \overline{) 874} \\ \underline{819} \\ 55 \end{array}$$

③

$$\begin{array}{r} 9 \\ 28 \overline{) 273} \\ \underline{252} \\ 21 \end{array}$$

④

$$\begin{array}{r} 6 \\ 35 \overline{) 236} \\ \underline{210} \\ 26 \end{array}$$

⑤

$$\begin{array}{r} 21 \\ 25 \overline{) 545} \\ \underline{50} \\ 45 \\ \underline{25} \\ 20 \end{array}$$

⑥

$$\begin{array}{r} 6 \\ 79 \overline{) 529} \\ \underline{474} \\ 55 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 30 \overline{) 917} \\ \underline{90} \\ 17 \end{array}$$

⑧

$$\begin{array}{r} 40 \\ 17 \overline{) 688} \\ \underline{68} \\ 8 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 22 \overline{) 241} \\ \underline{22} \\ 21 \end{array}$$

①

$$\begin{array}{r} 3 \\ 68 \overline{) 238} \\ \underline{204} \\ 34 \end{array}$$

②

$$\begin{array}{r} 2 \\ 49 \overline{) 110} \\ \underline{98} \\ 12 \end{array}$$

③

$$\begin{array}{r} 41 \\ 11 \overline{) 460} \\ \underline{44} \\ 20 \\ \underline{11} \\ 9 \end{array}$$

④

$$\begin{array}{r} 30 \\ 19 \overline{) 580} \\ \underline{57} \\ 10 \end{array}$$

⑤

$$\begin{array}{r} 19 \\ 43 \overline{) 824} \\ \underline{43} \\ 394 \\ \underline{387} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 57 \\ 11 \overline{) 633} \\ \underline{55} \\ 83 \\ \underline{77} \\ 6 \end{array}$$

⑦

$$\begin{array}{r} 9 \\ 38 \overline{) 364} \\ \underline{342} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 21 \\ 44 \overline{) 948} \\ \underline{88} \\ 68 \\ \underline{44} \\ 24 \end{array}$$

⑨

$$\begin{array}{r} 15 \\ 31 \overline{) 487} \\ \underline{31} \\ 177 \\ \underline{155} \\ 22 \end{array}$$

①

$$\begin{array}{r} 49 \\ 15 \overline{) 745} \\ \underline{60} \\ 145 \\ \underline{135} \\ 10 \end{array}$$

②

$$\begin{array}{r} 61 \\ 12 \overline{) 737} \\ \underline{72} \\ 17 \\ \underline{12} \\ 5 \end{array}$$

③

$$\begin{array}{r} 10 \\ 29 \overline{) 309} \\ \underline{29} \\ 19 \end{array}$$

④

$$\begin{array}{r} 2 \\ 95 \overline{) 226} \\ \underline{190} \\ 36 \end{array}$$

⑤

$$\begin{array}{r} 16 \\ 41 \overline{) 677} \\ \underline{41} \\ 267 \\ \underline{246} \\ 21 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 49 \overline{) 527} \\ \underline{49} \\ 37 \end{array}$$

⑦

$$\begin{array}{r} 78 \\ 11 \overline{) 868} \\ \underline{77} \\ 98 \\ \underline{88} \\ 10 \end{array}$$

⑧

$$\begin{array}{r} 63 \\ 12 \overline{) 762} \\ \underline{72} \\ 42 \\ \underline{36} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 6 \\ 63 \overline{) 406} \\ \underline{378} \\ 28 \end{array}$$

①

$$\begin{array}{r} 7 \\ 37 \overline{) 283} \\ \underline{259} \\ 24 \end{array}$$

②

$$\begin{array}{r} 6 \\ 92 \overline{) 632} \\ \underline{552} \\ 80 \end{array}$$

③

$$\begin{array}{r} 4 \\ 89 \overline{) 410} \\ \underline{356} \\ 54 \end{array}$$

④

$$\begin{array}{r} 16 \\ 13 \overline{) 219} \\ \underline{13} \\ 89 \\ \underline{78} \\ 11 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 41 \overline{) 447} \\ \underline{41} \\ 37 \end{array}$$

⑥

$$\begin{array}{r} 69 \\ 11 \overline{) 765} \\ \underline{66} \\ 105 \\ \underline{99} \\ 6 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 27 \overline{) 281} \\ \underline{27} \\ 11 \end{array}$$

⑧

$$\begin{array}{r} 2 \\ 73 \overline{) 173} \\ \underline{146} \\ 27 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 34 \overline{) 693} \\ \underline{68} \\ 13 \end{array}$$

①

$$\begin{array}{r} 2 \\ 75 \overline{) 185} \\ \underline{150} \\ 35 \end{array}$$

②

$$\begin{array}{r} 27 \\ 22 \overline{) 602} \\ \underline{44} \\ 162 \\ \underline{154} \\ 8 \end{array}$$

③

$$\begin{array}{r} 2 \\ 53 \overline{) 145} \\ \underline{106} \\ 39 \end{array}$$

④

$$\begin{array}{r} 4 \\ 66 \overline{) 323} \\ \underline{264} \\ 59 \end{array}$$

⑤

$$\begin{array}{r} 17 \\ 37 \overline{) 657} \\ \underline{37} \\ 287 \\ \underline{259} \\ 28 \end{array}$$

⑥

$$\begin{array}{r} 20 \\ 25 \overline{) 514} \\ \underline{50} \\ 14 \end{array}$$

⑦

$$\begin{array}{r} 34 \\ 17 \overline{) 581} \\ \underline{51} \\ 71 \\ \underline{68} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 44 \\ 14 \overline{) 623} \\ \underline{56} \\ 63 \\ \underline{56} \\ 7 \end{array}$$

⑨

$$\begin{array}{r} 21 \\ 43 \overline{) 912} \\ \underline{86} \\ 52 \\ \underline{43} \\ 9 \end{array}$$

①

$$\begin{array}{r} 7 \\ 93 \overline{) 658} \\ \underline{651} \\ 7 \end{array}$$

②

$$\begin{array}{r} 9 \\ 93 \overline{) 908} \\ \underline{837} \\ 71 \end{array}$$

③

$$\begin{array}{r} 23 \\ 22 \overline{) 507} \\ \underline{44} \\ 67 \\ \underline{66} \\ 1 \end{array}$$

④

$$\begin{array}{r} 4 \\ 74 \overline{) 311} \\ \underline{296} \\ 15 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 38 \overline{) 786} \\ \underline{76} \\ 26 \end{array}$$

⑥

$$\begin{array}{r} 42 \\ 16 \overline{) 673} \\ \underline{64} \\ 33 \\ \underline{32} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 4 \\ 74 \overline{) 343} \\ \underline{296} \\ 47 \end{array}$$

⑧

$$\begin{array}{r} 13 \\ 30 \overline{) 415} \\ \underline{30} \\ 115 \\ \underline{90} \\ 25 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 15 \overline{) 314} \\ \underline{30} \\ 14 \end{array}$$

①

$$\begin{array}{r} 27 \\ 26 \overline{) 705} \\ \underline{52} \\ 185 \\ \underline{182} \\ 3 \end{array}$$

②

$$\begin{array}{r} 42 \\ 21 \overline{) 898} \\ \underline{84} \\ 58 \\ \underline{42} \\ 16 \end{array}$$

③

$$\begin{array}{r} 89 \\ 11 \overline{) 985} \\ \underline{88} \\ 105 \\ \underline{99} \\ 6 \end{array}$$

④

$$\begin{array}{r} 20 \\ 16 \overline{) 321} \\ \underline{32} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 23 \\ 40 \overline{) 925} \\ \underline{80} \\ 125 \\ \underline{120} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 34 \overline{) 357} \\ \underline{34} \\ 17 \end{array}$$

⑦

$$\begin{array}{r} 70 \\ 12 \overline{) 849} \\ \underline{84} \\ 9 \end{array}$$

⑧

$$\begin{array}{r} 3 \\ 67 \overline{) 236} \\ \underline{201} \\ 35 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 42 \overline{) 460} \\ \underline{42} \\ 40 \end{array}$$

①

$$\begin{array}{r} 21 \\ 15 \overline{) 320} \\ \underline{30} \\ 20 \\ \underline{15} \\ 5 \end{array}$$

②

$$\begin{array}{r} 60 \\ 15 \overline{) 901} \\ \underline{90} \\ 1 \end{array}$$

③

$$\begin{array}{r} 9 \\ 75 \overline{) 699} \\ \underline{675} \\ 24 \end{array}$$

④

$$\begin{array}{r} 80 \\ 11 \overline{) 882} \\ \underline{88} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 27 \\ 24 \overline{) 651} \\ \underline{48} \\ 171 \\ \underline{168} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 2 \\ 54 \overline{) 132} \\ \underline{108} \\ 24 \end{array}$$

⑦

$$\begin{array}{r} 9 \\ 19 \overline{) 187} \\ \underline{171} \\ 16 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 11 \overline{) 112} \\ \underline{11} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 7 \\ 60 \overline{) 462} \\ \underline{420} \\ 42 \end{array}$$

①

$$\begin{array}{r} 38 \\ 17 \overline{) 653} \\ \underline{51} \\ 143 \\ \underline{136} \\ 7 \end{array}$$

②

$$\begin{array}{r} 20 \\ 15 \overline{) 304} \\ \underline{30} \\ 4 \end{array}$$

③

$$\begin{array}{r} 2 \\ 87 \overline{) 253} \\ \underline{174} \\ 79 \end{array}$$

④

$$\begin{array}{r} 6 \\ 83 \overline{) 509} \\ \underline{498} \\ 11 \end{array}$$

⑤

$$\begin{array}{r} 40 \\ 13 \overline{) 524} \\ \underline{52} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 6 \\ 26 \overline{) 156} \\ \underline{156} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 13 \\ 37 \overline{) 511} \\ \underline{37} \\ 141 \\ \underline{111} \\ 30 \end{array}$$

⑧

$$\begin{array}{r} 20 \\ 37 \overline{) 776} \\ \underline{74} \\ 36 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 29 \overline{) 306} \\ \underline{29} \\ 16 \end{array}$$

①

$$\begin{array}{r} 6 \\ 23 \overline{) 149} \\ \underline{138} \\ 11 \end{array}$$

②

$$\begin{array}{r} 10 \\ 21 \overline{) 224} \\ \underline{21} \\ 14 \end{array}$$

③

$$\begin{array}{r} 10 \\ 38 \overline{) 381} \\ \underline{38} \\ 1 \end{array}$$

④

$$\begin{array}{r} 25 \\ 38 \overline{) 952} \\ \underline{76} \\ 192 \\ \underline{190} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 40 \\ 17 \overline{) 683} \\ \underline{68} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 20 \\ 13 \overline{) 269} \\ \underline{26} \\ 9 \end{array}$$

⑦

$$\begin{array}{r} 9 \\ 62 \overline{) 615} \\ \underline{558} \\ 57 \end{array}$$

⑧

$$\begin{array}{r} 26 \\ 11 \overline{) 289} \\ \underline{22} \\ 69 \\ \underline{66} \\ 3 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 24 \overline{) 499} \\ \underline{48} \\ 19 \end{array}$$

①

$$\begin{array}{r} 21 \overline{) 124} \\ \underline{105} \\ 19 \end{array}$$

②

$$\begin{array}{r} 86 \overline{) 385} \\ \underline{344} \\ 41 \end{array}$$

③

$$\begin{array}{r} 18 \overline{) 364} \\ \underline{36} \\ 4 \end{array}$$

④

$$\begin{array}{r} 39 \overline{) 804} \\ \underline{78} \\ 24 \end{array}$$

⑤

$$\begin{array}{r} 79 \overline{) 692} \\ \underline{632} \\ 60 \end{array}$$

⑥

$$\begin{array}{r} 24 \overline{) 965} \\ \underline{96} \\ 5 \end{array}$$

⑦

$$\begin{array}{r} 83 \overline{) 296} \\ \underline{249} \\ 47 \end{array}$$

⑧

$$\begin{array}{r} 35 \overline{) 790} \\ \underline{70} \\ 90 \\ \underline{70} \\ 20 \end{array}$$

⑨

$$\begin{array}{r} 44 \overline{) 464} \\ \underline{44} \\ 24 \end{array}$$

①

$$\begin{array}{r} 9 \\ 30 \overline{) 280} \\ \underline{270} \\ 10 \end{array}$$

②

$$\begin{array}{r} 33 \\ 26 \overline{) 870} \\ \underline{78} \\ 90 \\ \underline{78} \\ 12 \end{array}$$

③

$$\begin{array}{r} 9 \\ 96 \overline{) 907} \\ \underline{864} \\ 43 \end{array}$$

④

$$\begin{array}{r} 2 \\ 46 \overline{) 107} \\ \underline{92} \\ 15 \end{array}$$

⑤

$$\begin{array}{r} 21 \\ 28 \overline{) 603} \\ \underline{56} \\ 43 \\ \underline{28} \\ 15 \end{array}$$

⑥

$$\begin{array}{r} 20 \\ 20 \overline{) 412} \\ \underline{40} \\ 12 \end{array}$$

⑦

$$\begin{array}{r} 25 \\ 25 \overline{) 644} \\ \underline{50} \\ 144 \\ \underline{125} \\ 19 \end{array}$$

⑧

$$\begin{array}{r} 30 \\ 26 \overline{) 794} \\ \underline{78} \\ 14 \end{array}$$

⑨

$$\begin{array}{r} 34 \\ 18 \overline{) 617} \\ \underline{54} \\ 77 \\ \underline{72} \\ 5 \end{array}$$

①

$$\begin{array}{r} 21 \\ 20 \overline{) 436} \\ \underline{40} \\ 36 \\ \underline{20} \\ 16 \end{array}$$

②

$$\begin{array}{r} 19 \\ 24 \overline{) 478} \\ \underline{24} \\ 238 \\ \underline{216} \\ 22 \end{array}$$

③

$$\begin{array}{r} 30 \\ 30 \overline{) 913} \\ \underline{90} \\ 13 \end{array}$$

④

$$\begin{array}{r} 14 \\ 30 \overline{) 445} \\ \underline{30} \\ 145 \\ \underline{120} \\ 25 \end{array}$$

⑤

$$\begin{array}{r} 5 \\ 37 \overline{) 199} \\ \underline{185} \\ 14 \end{array}$$

⑥

$$\begin{array}{r} 19 \\ 25 \overline{) 498} \\ \underline{25} \\ 248 \\ \underline{225} \\ 23 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 12 \overline{) 123} \\ \underline{12} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 28 \overline{) 307} \\ \underline{28} \\ 27 \end{array}$$

⑨

$$\begin{array}{r} 40 \\ 16 \overline{) 642} \\ \underline{64} \\ 2 \end{array}$$

①

$$\begin{array}{r} 10 \\ 30 \overline{) 322} \\ \underline{30} \\ 22 \end{array}$$

②

$$\begin{array}{r} 60 \\ 15 \overline{) 904} \\ \underline{90} \\ 4 \end{array}$$

③

$$\begin{array}{r} 83 \\ 11 \overline{) 920} \\ \underline{88} \\ 40 \\ \underline{33} \\ 7 \end{array}$$

④

$$\begin{array}{r} 37 \\ 14 \overline{) 529} \\ \underline{42} \\ 109 \\ \underline{98} \\ 11 \end{array}$$

⑤

$$\begin{array}{r} 42 \\ 14 \overline{) 595} \\ \underline{56} \\ 35 \\ \underline{28} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 18 \\ 43 \overline{) 795} \\ \underline{43} \\ 365 \\ \underline{344} \\ 21 \end{array}$$

⑦

$$\begin{array}{r} 36 \\ 20 \overline{) 737} \\ \underline{60} \\ 137 \\ \underline{120} \\ 17 \end{array}$$

⑧

$$\begin{array}{r} 6 \\ 79 \overline{) 511} \\ \underline{474} \\ 37 \end{array}$$

⑨

$$\begin{array}{r} 9 \\ 33 \overline{) 328} \\ \underline{297} \\ 31 \end{array}$$

①

$$\begin{array}{r} 20 \\ 11 \overline{) 221} \\ \underline{22} \\ 1 \end{array}$$

②

$$\begin{array}{r} 10 \\ 12 \overline{) 129} \\ \underline{12} \\ 9 \end{array}$$

③

$$\begin{array}{r} 9 \\ 55 \overline{) 509} \\ \underline{495} \\ 14 \end{array}$$

④

$$\begin{array}{r} 50 \\ 16 \overline{) 810} \\ \underline{80} \\ 10 \end{array}$$

⑤

$$\begin{array}{r} 18 \\ 44 \overline{) 827} \\ \underline{44} \\ 387 \\ \underline{352} \\ 35 \end{array}$$

⑥

$$\begin{array}{r} 17 \\ 34 \overline{) 605} \\ \underline{34} \\ 265 \\ \underline{238} \\ 27 \end{array}$$

⑦

$$\begin{array}{r} 7 \\ 76 \overline{) 561} \\ \underline{532} \\ 29 \end{array}$$

⑧

$$\begin{array}{r} 15 \\ 14 \overline{) 218} \\ \underline{14} \\ 78 \\ \underline{70} \\ 8 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 40 \overline{) 404} \\ \underline{40} \\ 4 \end{array}$$

①

$$\begin{array}{r} 7 \\ 30 \overline{) 231} \\ \underline{210} \\ 21 \end{array}$$

②

$$\begin{array}{r} 6 \\ 35 \overline{) 215} \\ \underline{210} \\ 5 \end{array}$$

③

$$\begin{array}{r} 39 \\ 16 \overline{) 630} \\ \underline{48} \\ 150 \\ \underline{144} \\ 6 \end{array}$$

④

$$\begin{array}{r} 2 \\ 41 \overline{) 101} \\ \underline{82} \\ 19 \end{array}$$

⑤

$$\begin{array}{r} 9 \\ 48 \overline{) 434} \\ \underline{432} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 77 \\ 11 \overline{) 850} \\ \underline{77} \\ 80 \\ \underline{77} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 70 \\ 13 \overline{) 921} \\ \underline{91} \\ 11 \end{array}$$

⑧

$$\begin{array}{r} 9 \\ 77 \overline{) 733} \\ \underline{693} \\ 40 \end{array}$$

⑨

$$\begin{array}{r} 3 \\ 41 \overline{) 148} \\ \underline{123} \\ 25 \end{array}$$

①

$$\begin{array}{r} 20 \\ 28 \overline{) 565} \\ \underline{56} \\ 5 \end{array}$$

②

$$\begin{array}{r} 10 \\ 43 \overline{) 445} \\ \underline{43} \\ 15 \end{array}$$

③

$$\begin{array}{r} 40 \\ 11 \overline{) 445} \\ \underline{44} \\ 5 \end{array}$$

④

$$\begin{array}{r} 2 \\ 81 \overline{) 235} \\ \underline{162} \\ 73 \end{array}$$

⑤

$$\begin{array}{r} 14 \\ 30 \overline{) 431} \\ \underline{30} \\ 131 \\ \underline{120} \\ 11 \end{array}$$

⑥

$$\begin{array}{r} 7 \\ 62 \overline{) 435} \\ \underline{434} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 9 \\ 70 \overline{) 697} \\ \underline{630} \\ 67 \end{array}$$

⑧

$$\begin{array}{r} 11 \\ 22 \overline{) 259} \\ \underline{22} \\ 39 \\ \underline{22} \\ 17 \end{array}$$

⑨

$$\begin{array}{r} 7 \\ 33 \overline{) 233} \\ \underline{231} \\ 2 \end{array}$$

①

$$\begin{array}{r} 20 \\ 29 \overline{) 606} \\ \underline{58} \\ 26 \end{array}$$

②

$$\begin{array}{r} 6 \\ 42 \overline{) 282} \\ \underline{252} \\ 30 \end{array}$$

③

$$\begin{array}{r} 20 \\ 36 \overline{) 751} \\ \underline{72} \\ 31 \end{array}$$

④

$$\begin{array}{r} 9 \\ 38 \overline{) 360} \\ \underline{342} \\ 18 \end{array}$$

⑤

$$\begin{array}{r} 32 \\ 20 \overline{) 652} \\ \underline{60} \\ 52 \\ \underline{40} \\ 12 \end{array}$$

⑥

$$\begin{array}{r} 2 \\ 75 \overline{) 216} \\ \underline{150} \\ 66 \end{array}$$

⑦

$$\begin{array}{r} 5 \\ 45 \overline{) 252} \\ \underline{225} \\ 27 \end{array}$$

⑧

$$\begin{array}{r} 45 \\ 19 \overline{) 869} \\ \underline{76} \\ 109 \\ \underline{95} \\ 14 \end{array}$$

⑨

$$\begin{array}{r} 22 \\ 34 \overline{) 773} \\ \underline{68} \\ 93 \\ \underline{68} \\ 25 \end{array}$$

①

$$\begin{array}{r} 20 \\ 34 \overline{) 683} \\ \underline{68} \\ 3 \end{array}$$

②

$$\begin{array}{r} 10 \\ 13 \overline{) 139} \\ \underline{13} \\ 9 \end{array}$$

③

$$\begin{array}{r} 38 \\ 16 \overline{) 617} \\ \underline{48} \\ 137 \\ \underline{128} \\ 9 \end{array}$$

④

$$\begin{array}{r} 18 \\ 11 \overline{) 205} \\ \underline{11} \\ 95 \\ \underline{88} \\ 7 \end{array}$$

⑤

$$\begin{array}{r} 8 \\ 22 \overline{) 188} \\ \underline{176} \\ 12 \end{array}$$

⑥

$$\begin{array}{r} 21 \\ 44 \overline{) 929} \\ \underline{88} \\ 49 \\ \underline{44} \\ 5 \end{array}$$

⑦

$$\begin{array}{r} 69 \\ 13 \overline{) 898} \\ \underline{78} \\ 118 \\ \underline{117} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 15 \\ 37 \overline{) 581} \\ \underline{37} \\ 211 \\ \underline{185} \\ 26 \end{array}$$

⑨

$$\begin{array}{r} 9 \\ 79 \overline{) 713} \\ \underline{71} \\ 2 \end{array}$$

①

$$\begin{array}{r} 40 \overline{) 174} \\ \underline{160} \\ 14 \end{array}$$

②

$$\begin{array}{r} 89 \overline{) 598} \\ \underline{534} \\ 64 \end{array}$$

③

$$\begin{array}{r} 34 \overline{) 701} \\ \underline{68} \\ 21 \end{array}$$

④

$$\begin{array}{r} 12 \overline{) 681} \\ \underline{60} \\ 81 \\ \underline{72} \\ 9 \end{array}$$

⑤

$$\begin{array}{r} 19 \overline{) 971} \\ \underline{95} \\ 21 \\ \underline{19} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 12 \overline{) 585} \\ \underline{48} \\ 105 \\ \underline{96} \\ 9 \end{array}$$

⑦

$$\begin{array}{r} 27 \overline{) 547} \\ \underline{54} \\ 7 \end{array}$$

⑧

$$\begin{array}{r} 64 \overline{) 275} \\ \underline{256} \\ 19 \end{array}$$

⑨

$$\begin{array}{r} 13 \overline{) 264} \\ \underline{26} \\ 4 \end{array}$$